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6H6H(X) WHHETE 1000 | 2 0.055
EHOEREARME 905 | £ 0.064
FAHEEHREL2— 905 | £ 0.044

EREEENE 9215 | £ 0.065

EREXIED D 935 | 2 0.045

=D % 945 | £ 0.060
ABEELNELZ— 1000 | £ 0.032
INEEASNH N F— 1020 | £ 0.052

L TIEEEXT 10:30 | B& 0.043
6A20BUN) e mmianmmomam | 103 | B 0.054
HMEF11RSEMERA 10:45 | BE 0.056

SEBFESE 145 H 518855 1055 | 2 0.046

D5&HUNEE 1105 | g 0.047

A HER (Bidwi5) 11:10 | B 0.043

BRI % BHERT 11:20 | £ 0.036

I\ E =P 11:25 | £ 0.051

SEBFESE 125 H 58 1 885 FT 11:35 | 2 0.041

6138 () A KI5 1330 | £ 0.037
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Az H AR A Bl R IR e R G 1 m)

9A5H (K) WHHEATE 16:30 |BEH 0.051
EHOEREARME 8:40 |[Kh 0.051

FAHEEREL 21— 8:45 |[Kh 0.054

EREEENE 9:00 |BEh 0.059

EREXIED D 9:15 |EEh 0.060

=D % 9:20 |BEh 0.065
ABEELNELZ— 9:35 |EEN 0.030
INEEASNH N F— 10:00 |EEH 0.048

N TIEEEST 1005 |BEh 0.053

SR19B o) SEB S 1450 F 5 28055 10:10 |BEh 0.040
HMEFI11RZEMERA 10:25 |BEh 0.053

SEHBE S 1450 F %1 EREERT 10:35 |BEh 0.045

D5&HUNEE 10:45 |BEH 0.036

A HER (Bidwi5) 1050 |BEN 0.046

BRI % BERT 11:00 |BEh 0.039

I\ E =P 11:05 |BEh 0.051

SEHBFE S 1 25 F %1 EREERT 11:15 |BEh 0.046
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EHOEREARME 845 |[KEh 0.061

FAHEEHREL2— 850 |[KEh 0.048

EREEENE 9:05 |BEh 0.048

EREXIED D 915 |EEN 0.044

=D % 9:25 |BEh 0.061

ABEELNELZ— 9:35 |EEN 0.032

INEEASNH N F— 10:00 |EEH 0.054

" TIEEEXT 1005 |BEh 0.050

12A 198 (0 SEB IS 1450 F 5 28055 T 10:10 |BEh 0.055

HMEF11RSEMERA 10:20 |BEN 0.046

SEHBE S 1450 F %1 EREERT 10:30 |BEh 0.052

D5&HUNEE 10:40 |BEH 0.045

A HER (Bidwi5) 10:45 |BEh 0.041

BRI % BHERT 1055 |BEh 0.026

I\ E =P 11:00 |BEh 0.042

SEBFE S 1 25 F %1 EREEFT 11:10 |BEh 0.048
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FAHEEREL 21— 1320 |BEh 0.048

EREEENE 13:35 |BEh 0.048

EREXIED D 1345 |BEh 0.042

=D % 1355 |BEh 0.083
ABEELNELZ— 1405 |BEh 0.026
INEEASNH N F— 14:30 |BEN 0.052

N TIEEEST 14:35 |BEh 0.050

SA19R Y SEB S 1450 F 5 28055 1440 |BEh 0.045
HMEFI11RZEMERA 1450 |BEh 0.040

SEHBE S 1450 F %1 EREERT 15:00 |BEh 0.050

D5&HUNEE 15:10 |BEH 0.040

A HER (Bidwi5) 15:20 |BEh 0.038

BRI % BERT 15:25 |BEh 0.031

I\ E =P 15:35 |BEh 0.061

SEHBFE S 1 25 F %1 EREERT 15:40 |BEh 0.049
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